m D

200 _ without_nlepton_cut
——— Without nLeptons==2 cut ;
180 Entries 1170
Mean 1.864
——— With nLeptons==2 cut RMS 0.005843
160 = with_nlepton_cut
- Entries 1062
140 — Mean 1.865
120 :L RMS 0.005685
100 —
80 —
60 —
40—
20 |—
: | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
9 76 1.78 1.8 1.82 1.84 1.86 1.88 1.9 1.92 1.94 1.96
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Best Sum of Cosine Angles

—— Without nLeptons==2 cut

——— With nLeptons==2 cut

without nlepton_cut

Entries 1170
Mean -0.2331
RMS 0.4177
with_nlepton_cut
Entries 1062
Mean -0.235
RMS 0.421




Bad Sum of Cosine Angles

100 without_nlepton_cut
——— Without nLeptons==2 cut Entries 11 70
90 Mean ~0.3834
— With nLeptons==2 cut RMS 0.8184
80 B with_nlepton_cut
— Entries 1062
70 — Mean -0.39
— RMS 0.8158
60 —
50 —
40 —
30 —
20
10—
0 = L_rh




#Defining the cuts

cut
cut
cut
cut

cut
cut

m Dcut abs(m D-1.865)<0.015
Ycut Yincl rank all==

best cut abs(best soln)<2
lep cut nLepton==

prev_cut best cut&&Ycut&&m Dcut
new cut best cut&iYcut&im Dcut&élep cut
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